

Office of Purchasing and Supply Services Facilities Administration Building 13300 Old Marlboro Pike, Room 20 Upper Marlboro, MD 20772 301-952-6560 Fax: 301-952-6605

Brenda Allen, Director

NOTICE OF CONTRACT AWARD

May 19, 2016

Clifton Larson Allen 1966 Greenspring Drive, Suite 300 Timonium, MD 21093

Tel: 410.453.0900 Fax: 410.453.0914

Email: sean.walker@claconnect.com

Subject: RFP 037-16 Professional Auditing Services

Buyer: Donna Parks Telephone: 301.952.6567 Fax: 301.952.6605

Email: donna.parks@pgcps.org

Clifton Larson Allen has been selected as the vendor to provide services in accordance with the above-mentioned RFP 037-16. This contract sets-forth the terms and conditions and is provided for your review and acceptance. Any changes or additions made by your company must first be accepted by the Purchasing Division before the contract is valid.

The intent of this contract is to provide the Board with an expedited means of procuring supplies and/or services at the lowest cost. This contract is for the convenience of the Board and is considered by Purchasing Department to be a "Non-Exclusive" use contract. The Board does not guarantee any usage. The Board will not be held to purchase any particular Brand, in any groups, prices or discount ranges, but reserves the right to purchase any item/items listed in the price schedule submitted.

Please sign below and return all documents to the PURCHASING OFFICE within ten (10) business days. Failure to sign the contract award and return <u>all</u> required documents within the specified time, shall rule your offer null and void and, therefore, award shall be made to the next low responsive bidder.

CONTRACT TERM

The initial term of the contract will be for five (5) years. This contract is effective from May 1, 2016 through April 30, 2021.

CONTRACT AWARD ESTIMATED AMOUNT

The estimated amount of award is

\$948,225.00

INSURANCE

A Certificate of Insurance, made in favor of the Board of Education of Prince George's County, Upper Marlboro, Maryland 20772-9983, must be submitted to the PURCHASING OFFICE with the returned signed NOTICE OF AWARD within ten (10) business days. The certificate should reference the Solicitation Number as shown herein. It will be the responsibility of the contractor to ensure that a current Certificate of Insurance is on file in the Purchasing Office during the entire period of the contract.

LIQUIDATED DAMAGES/FAILURE TO PERFORM WORK (N/A)

This contract requires the contractor to make good faith efforts to comply with the Minority Business Enterprise ("MBE") Program and contract provisions. The Board and the Contractor acknowledge and agree that the Board will incur damages, including but not limited to loss of goodwill, detrimental impact on economic development, and diversion of internal staff resources, if the Contractor does not make good faith efforts to comply with the requirements of the MBE Program and MBE contract provisions. The parties further acknowledge and agree that the damages the Board might reasonably be anticipated to accrue as a result of such lack of compliance are difficult to ascertain with precision.

Therefore, upon a determination by the Board that the Contractor failed to make good faith efforts to comply with one or more of the specified MBE Program requirements or contract provisions, the Contractor agrees to pay liquidated damages to the Board at the rates set forth below. The Contractor expressly agrees that the Board may withhold payment on any invoices as a set-off against liquidated damages owed. The Contractor further agrees that for each specified violation, the agreed upon liquidated damages are reasonably proximate to the loss the Board is anticipated to incur as a result of such violation.

- a. Failure to submit each monthly payment report in full compliance with COMAR 21.11.03.13B (3): \$35.00 per day until the monthly report is submitted as required.
- b. Failure to include in its agreements with MBE subcontractors a provision requiring submission of payment reports in full compliance with COMAR 21.11.03.13B (4): \$85.00 per MBE subcontractor.
- c. Failure to comply with COMAR 21.11.03.12 in terminating, canceling, or changing the scope of work/value of a contract with an MBE subcontractor and/or amendment of the MBE participation schedule: the difference between the dollar value of the MBE participation commitment on the MBE participation schedule for that specific MBE firm and the dollar value of the work performed by that MBE firm for the contract.
- d. Failure to meet the Contractor's total MBE participation goal and subgoal commitments: the difference between the dollar value of the total MBE participation commitment on the MBE participation schedule and the MBE participation actually achieved.
- e. Failure to promptly pay all undisputed amounts to an MBE subcontractor in full compliance with the prompt payment provisions of this contract: \$100.00 per day until the undisputed amount due to the MBE subcontractor is paid.

Notwithstanding the use of liquidated damages, the Board reserves the right to terminate the contract and exercise all other rights and remedies provided in the contract or by law. The successful respondents accepts this contract with the understanding that should they fail to complete the work in an acceptable manner and in the time stated, shall be subject to the payment of liquidated damages as stated in the proposal document.

AVAILABILITY OF FUNDS

This contract shall be deemed executory only to the extent of appropriations available to the BOARD for the purchase of such articles. The obligation of the BOARD on all contracts, including those which envision funding through current and successive fiscal years, shall be contingent upon actual BOARD appropriations, including approval of this contract award for funding by the Interagency Committee on Maryland Public School Construction, for the fiscal year(s) involved.

This notice of award, plus the solicitation, your offer and any pertinent documents will constitute the entire contract after acceptance by your firm and the BOARD. Please refer to **RFP 037-16** for all applicable terms and conditions.

CRIMINAL BACKGROUND CHECK/PHOTO IDENTIFICATION BADGE

It is the responsibility of the Consultant to make certain that its employees, agents, volunteers, and contractors who have contact with students be fingerprinted and have a background check in compliance with Title 5, Subtitle 5, Part VI, of the Family Law Article of the Maryland Code.

A. Employees Having Direct Contact with Students:

Any and all current and future employees of Consultant/Contractors who may have direct contact with students must have a criminal background check and fingerprinting conducted by the Finger Printing Office

RFP 037-16

of the Board before 14 days before beginning work. Previous background checks will not be accepted. The fee for the background check shall be paid by the Consultant/Contractors by check or money order at the time the fingerprinting is performed. No employee can begin work in a PGCPS Schools until results have been received. Violation of this provision may result in Termination for Cause.

B. Employees Do Not Have Direct Contact With Students:

Employees of Consultant/Contractor who will be placed in a PGCPS Schools but will not have direct contact with students must have on record a Criminal Justice Information Service (CJIS) and NCIC background checks. Copies of the background checks must be forwarded to the Contract Officer before services can commence. Every two years the Consultant shall submit copies of background checks to the Contract Officer. Should any employee be flagged during the term of this agreement, the Consultant shall contact the Contract Officer within 24 hours of notification. Violation of this provision may result in Termination for Cause.

C. Employment of Child Sex Offenders:

The Consultant/Contractor shall at all times be compliant with the Criminal Procedure Article of Annotated Code of Maryland Section 11-722 that states that a person who enters a contract with a County Board of Education or a nonpublic school may not knowingly employ an individual to work at a school if the individual is a registered child sex offender. If a registered child sex offender is employed by the Consultant/Contractor, the Consultant/Contractor is prohibited from assigning that employee to perform management, delivery, installation, repair, construction or any other type of services on any The Board property. Violation of this provision may result in Termination for Cause.

This notice of award, plus the solicitation and any pertinent documents will constitute the entire contract after acceptance by your firm and the BOARD. Please refer to the RFP 037-16 for all applicable terms and conditions.

ACCEPTED BY: FOR THE FIRM:	FOR THE BOARD OF EDUCATION:
GMall 5-	25-2016 Johnne Sman for Breade Aller 6/3/16 DATE SIGNATURE DATE
SIGNATURE	DATE SIGNATURE V DATE
Sezn Walker	Brenda Allen
NAME	NAME:
Principa) TITLE	Director, Purchasing & Supply Services TITLE
Clothan Lorson Alten LCP FIRM	FOR THE BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY UPPER MARLBORO, MARYLAND 20772

Year 1 -- Audit of Fiscal Year 2016 Financial Statements

Item Description	Hours	Rates	Totals
Partners	135	\$230	\$31,050
Managers	275	\$160	\$44,000
Supervisory Staff	500_	\$104	\$52,000
Staff	450	\$89	\$40,050
Other (Information Technology)	100	\$168	\$16,800
Grand Total for Audit of Fiscal Year 2016	1,460		\$183,900

Nature of Services to be Provided

A report on whether the financial statement is fairly presented in conformity with GAAP.

A report on the internal control structure based on the auditor's understanding of the control structure and assessment of control.

A report on compliance with applicable laws and regulations.

An "in relation to" report on the schedule of federal financial assistance.

A report on Schedule of Expenditures of Federal Awards and on the compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with specific requirements applicable to major federal financial assistance

A report on confirming periodic reimbursements to MSDE for employee retirement contributions charged to non-eligible sources are calculated correctly.

Page 5

Year 2 -- Audit of Fiscal Year 2017 Financial Statements

Item Description	Hours	Rates	Totals
Partners	135	\$233	\$31,455
Managers	275	\$163	\$44,825
Supervisory Staff	500	\$106	\$53,000
Staff	450	\$90	\$40,500
Other (Information Technology)	100	\$171	\$16,800
Grand Total for Audit of Fiscal Year 2017	1,460		\$186,880

Nature of Services to be Provided

A report on whether the financial statement is fairly presented in conformity with GAAP.

A report on the internal control structure based on the auditor's understanding of the control structure and assessment of control.

A report on compliance with applicable laws and regulations.

An "in relation to" report on the schedule of federal financial assistance.

A report on Schedule of Expenditures of Federal Awards and on the compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with specific requirements applicable to major federal financial assistance programs.

A report on confirming periodic reimbursements to MSDE for employee retirement contributions charged to non-eligible sources are calculated correctly.

Year 3 -- Audit of Fiscal Year 2018 Financial Statements

Item Description	Hours	Rates	Totals
Partners	135	\$237	\$31,995
Managers	275	\$165	\$45,375
Supervisory Staff	500	\$107	\$53,500
Staff	450	\$92	\$41,400
Other (Information Technology)	100	\$174	\$17,400
Grand Total for Audit of Fiscal Year 2018	1,460		\$189,670

Nature of Services to be Provided

A report on whether the financial statement is fairly presented in conformity with GAAP.

A report on the internal control structure based on the auditor's understanding of the control structure and assessment of control.

A report on compliance with applicable laws and regulations.

An "in relation to" report on the schedule of federal financial assistance.

A report on Schedule of Expenditures of Federal Awards and on the compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with specific requirements applicable to major federal financial assistance programs.

A report on confirming periodic reimbursements to MSDE for employee retirement contributions charged to non-eligible sources are calculated correctly.

Year 4 -- Audit of Fiscal Year 2019 Financial Statements

Item Description	Hours	Rates	Totals
Partners	135	\$241	\$32,535
Managers	275	\$168	\$46,200
Supervisory Staff	500	\$109	\$54,500
Staff	450	\$93 .	\$41,850
Other (Information Technology)	100	\$177	\$17,700
Grand Total for Audit of Fiscal Year 2019	1,460		\$192,785

Nature of Services to be Provided

A report on whether the financial statement is fairly presented in conformity with GAAP.

A report on the internal control structure based on the auditor's understanding of the control structure and assessment of control.

A report on compliance with applicable laws and regulations.

An "in relation to" report on the schedule of federal financial assistance.

A report on Schedule of Expenditures of Federal Awards and on the compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with specific requirements applicable to major federal financial assistance programs.

A report on confirming periodic reimbursements to MSDE for employee retirement contributions charged to non-eligible sources are calculated correctly.

Page 8

Year 5 -- Audit of Fiscal Year 2020 Financial Statements

Item Description	Hours	Rates	Totals
Partners	135	\$244	\$32,940
Managers	275	\$170	\$46,750
Supervisory Staff	500	\$110	\$55,000
Staff	450	\$94	\$42,300
Other (Information Technology)	100	\$180	\$18,000
Grand Total for Audit of Fiscal Year 2020	1,460		\$194,990

Nature of Services to be Provided

A report on whether the financial statement is fairly presented in conformity with GAAP.

A report on the internal control structure based on the auditor's understanding of the control structure and assessment of control.

A report on compliance with applicable laws and regulations.

An "in relation to" report on the schedule of federal financial assistance.

A report on Schedule of Expenditures of Federal Awards and on the compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with laws and regulations and internal controls as required for a single audit.

A report on compliance with specific requirements applicable to major federal financial assistance programs.

A report on confirming periodic reimbursements to MSDE for employee retirement contributions charged to non-eligible sources are calculated correctly.